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10.

OR (3121a1)

Explain "Perspective picture of a developed town".

"Tah faqpfRid ey & uRYe adR" 99y |

Write notes on:-
(1) Transportation system of satellite town.

(11) Business districts in satellite towns.

die fod—
(i) SUUE B &I yRag- Yulell,
(i) SUUE R d AR e

OR (3121a1)

Briefly explain:- "Satellite towns are self- sufficient"

"IUYE X ATHfTHR B" | TERIS | FHSV |

Explain Road layout, Civic amenities and Drainage

system of Indus Valley. 6
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Sem - V/Ar. Asstt.
Arch. & T.P

Time : 3Hrs.

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & uft ufg gl & SR <, IS U BT 99 635 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP Ued & 9 39T BT SR TP &) S8 (AR HH H)

BT A1y, =92 4 Sifd -8l oI 9ad 2 |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |

P.T.O



O'Ld

3¢ ] UONBZI[IAID UBLIASSY (D)
AlBER @ Plis )2 B Rldb] Mk Ibinlk, ore(g-ofuayoN (o)

uonezIIA uerwejodosay (q)
uoneziial uedderey (&)
" IMOI3 UMO) WO PIALIIP ST ue[d, moy urejdxyg °g T

PO[[ed OS[e ST UONLZIIAL AS[[BA SNPUL YL (1)

| 3
ke (@ pRIh $BE e Iblohle ¢ R(Sh inia (»)
RIs—Uokag: (B)
‘'sodejueApe LRy 2k (lg)
31 OS[e pue pooytnoqysrau jo suruonouny urejdxy IRRJI2|h Bk (1)
~g @b B
(Ibkeie) 4O k Blohty &b PR @ IRk Pla BRY )
edderey (p)
| 3 1R5M ko oxep-olusyoyA (9)
& WIPR] ¢ RISh kIR ¢ laa21>e PbRhe ‘ueLIfssy (q)
‘erure)odosaip ()
9 ............ S! UOHBZ!HA!O
Jrdwexd

KQ[[BA SNpUJ JO SUSWII[IAS 1SATI] oY} JO U (1)
d[qelns e M pooyrnoqyusiou jo sordround ureidxyg <L

: BpR| Abkh & hodp] PPRhS bRy lbh

| pYBELY K klh
0E=6X9 * © Aeah Bih el 07=07X1 : suondo

'suonsanQ) ALY [[e 1MUY SUIMO[[0] o) WOI} IOMSUR J[R)INS JSOW JY) IS00Y)  °|

- dNOUO V-d1Oodd
€0SLEIL SI C90S. LN C90S LN (4 €0SLEIL



1637503 14

5.

Explain different types of Density.

fafr =1 yoR & g-icd &1 ATT B |

OR (3721d1)

Mention types of zoning.

SIS © YBR BT Soal™ Y |

Master plan- Defination and Aims.

ARCR WITF @Y YT 3R SEQ |

OR(37214T)

What is development plan.

faera gierT «&aT 2 |
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(i)

(iii)

(iii)

(iv)

3 1637503

g a1dl Jwar &1 3R 1 ST Sdn
2

(31) srwf Fwran

(@) srararerfar awrar

(|) dArETel—sR’I

(%) ERa= awan

Garden cities were intended to be planned,
self contained communities surrounded by
(a) Greenbelts

(b) Rural Areas

(c) Urban Areas

(d) Rivers

D AIT—T |

(31) WdecH

(@) urhor &=
(|) wrEd a=n
(g) =ifear |

........... population.
(a) 3500

(b) 50,000

(c) 35,000

(d) 70,000

P.T.O
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e garR & fau e e F
3 foy oM IR & fay & Tss
@ vy A Bl Har 2 |

(31) uRde&a JrorT

(@) arftfe ayerT

(|) areex W=

(%) irenfire JoET |

GROUPB

Answer all Five Questions.

gl uig g3 & SN < |

2.

4x5=20

Briefly Compare road layout and drainage system
of Harappa with Modern town. 4

TSWT & IS d3Sc AR o el agawen
@1 oIl ATEYH WeR 4§ Gay A PN |

OR(3721dT)

Explain garden city of Letchworth.

deaef & mST A B @ |
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(vi)

(vii)

(vii)

(viii)

5 1637503

SUUE el A IHAX AU WY b

(@) PR

(@) caaara e
(d) SUTR

() Roid 9 |

A ring road system is also known as..............
(a) Linear way

(b) Circumferential way

(c) Rectangular way

(d) Triangular way

R e Ries &1 3R fog w©u A =T
ST 2 |

(@1 s ahrar

(@) 9aRfer &1 IrEar

(|) AMIATHIR adT

(%) v =ar

Examples of satellite cities are...............
(a) Patna and Siwan

(b) Bhuwaneshwar and Gandhimahal
(c) Jaipur and Surat

(d) Singapore and Tokyo
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(xvi)

(xvii)

(xvii)

10 NT5062

ARG PT AR WM ATHYU B
(31 wrHa IR

(¥) «ig

() ST Ao

(]) e Ao

Atownis a..............

(a) Urban settlement

(b) Residential Settlement
(c) Human Settlement

(d) Commercial Settlement

(xviii) Neighbourhood unit is introduced by.............

(a) Clarence stein

(b) Clarence Arthur
(c) Clarence Perry
(d) Ebenezer Howard

NT5062

x)

(xi)

(xi)

(xii)

7 1637503

ARCX 9 3 oIk WX fea-l smafer «f
AT 2 |
(1) 15 wret
(@) 5 Gt
(&) 20 Hrat
() 10 wrat

Radial Road pattern is also known as............
(a) Circumference Pattern,

(b) Hexagonal Road Pattern,

(c) Star Road Pattern

(d) Grid Road Pattern

et s ded & MR fooa a9 A
ST ST 2 |

(ar) uRefm de,

(@) BRIFNAA s ded,

(d) ¥R s ded,

(%) firs <er ded

The major benefit of neighbourhood is that
(a) Socializes people with each other

(b) It is cheaper

(c) It is costly

(d) It is equipped with amenities
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11.

s oanmse, ArRae glaamsi ik Rig ard
@1 oid el gomell 31 @ #W |

OR (3121a1)

Explain the buildings that were constructed in
Indus Valley town.

Rig ardl wer |4 il saral a1 saren
B |

Write notes on :-
(1) Radial Pattern,
(i1) Axial Pattern,

6
qre fod —
() XfeTa de,
(ii) srféra de,
OR (3121a1)

"Ring road system has the advantage to reduce
congestion". Explain with neat sketches.

P.T.O
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11.

s oanmse, ArRae glaamsi ik Rig ard)
@1 oid el gormrell 31 @ W |

OR (3121a1)

Explain the buildings that were constructed in
Indus Valley town.

Rig =l wer A4 g saral @1 sarn
B |
Write notes on :-

(1) Radial Pattern,
(i1) Axial Pattern,

?ﬁ‘c’ ﬁ*l—@ —
() Xfeaa de,
(ii) srféra de,

OR (3121a1)

"Ring road system has the advantage to reduce
congestion". Explain with neat sketches.

P.T.O
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